Entries / 10 MeV/c?

450
400
350
300
250
200
150
100

50

F 6<p <8 GeV/c

*
Pb-Pb, {s,, = 2.76 TeV
Centrality: 0-20%

D*—> K n*
+ and charge con;.

u = 1.868 £ 0.003 GeV/c?
6 =0.010 % 0.002 GeV/c?
S (30) = 167 + 43

1.75

18 18 19 195 2

Invariant Mass (Knr) (GeV/c?)

2.05

Entries / 12 MeV/c?

200
180
160
140
120
100
80
60
40
20

E_8<p‘<1 2 GeV/c

b bees b ben b beea oo

u = 1.875 + 0.006 GeV/c?

T T T T T

6 =0.022+ 0.006 GeV/c? ]

S (30) =132+ 38 E

saa s by by w s by w by vy by by o 1
175 18 185 19 195 2 2.05

Invariant Mass (Knr) (GeV/c?)

Entries / 12 MeV/c?

35

30

25

20

L L B L B N BB B |

12<p<16 GeV/c

u = 1.876  0.005 GeV/c?

5 6 = 0.020 £ 0.005 GeV/c?
S (30) = 62+ 15
0....I....I....I....I....I....I....T
175 18 185 19 195 2 2.05

Invariant Mass (Knr) (GeV/c?)



